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10.1

(a) E:%(1+2+ - +5)=3
§=%(2+5+ +8)=5
Z(xi_E)Q = (1_3)2+ (2—3)2—1— e 4+ (5_3)2: 10
i=1
5
Z(yi—§)2= 2-52+(B-52+ - +(8-5)>=26
i=1
5
M, —z)(y,—y)=1-3)2-5)+ (2-3)5-5)+ - + (5-3)(8—5) = 14
i=1
14

(b) HO : ,0:0
H1 : p>0
n=50]1 r=0.8680]92 FYEAZ :

tOZL VO—2 . 3008
1—(0.868)*

Lo.05 (5_2) = tg.05 (3) = 2.353
ty = 3.028 > 5 (3) = 2.353 0|82 H 2 7|75tk mhaa] Ao1go] it 48 Ato]of
Fo] ATEIAE Aot & 4 9k
14

(c) bzﬁ—m

a=5-14%x3=0.38 = y=0.8+ 1.4z

14?
(d) SSE = 26— < = 6.4
o’ =s"= % = 2.133
s 147
(e) r o3 = 0704
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() o005 (5—2) = 1095 (3) = 3.182

/ 2
0.8—3.182 2133 <a<0.843.182 2133(; fO)

= 0.8—4.8714<a<0.8+4.874
= —4.074<a<5.674

(g) 1.4— 3182\/7<b< 1.4+ 3.182 2'115)3

= 1.4—1.470<b<1.4+1.470
= —0.07<b<2.387

(h) z=62 @, a+b(6)=08+1.4x6=09.2
1 (6—3)*
—_ . J— _ <
9.2 3182\/2133(5+ 0 a+bx
1 (6—3)2)
< 9. . . _—t
92+3182\/2133(5+ 0

= 0.2—4.874<a+br<9.2+4.874
= 4.326 < a+br <14.074

0.8—0
1 32)’

133 =+ =—

2133(5

t0.025 (6-2)= 10.025 (3) = 3.182

Ity | =

[ty | = 0522 < t)0;(3) = 3.1820|8.2 H & 7|7ts}x] £atc},

14—
p= 220 5
2.133

10
Lo.05 (572) = 1905 (3) = 2.353

to = 3.031 > t,;(3) = 2.3530|22 H 5 7]zt



10.3
raX+b,cY+d)&
r(2X+3, —7Y+4) =

H3 Brsd

ac>0% o rol1, ge<0Y T —ro] Yo

—rOJT},

10.5
Hy : p=20
H : p>0
n=10102 HEO] 37|17} 31, r=0.610102 AJEAZ :

0.61+/109
V1-0.61°

ty =

= 8.04
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= 8.04> t0405(109) = Zyos = 1.6450] 22 H()% 712ttt} whebA] whg2wet FAl9]
SgA] ghol) ool AR} QIrkL & % 9c.

10.7
_ 1 n 4
(a) z = n1:1xi— 0 =04
—_ls 6 _
y = n;y— 0~ 06
Zw—x Em —n(z)*=14—-10(0.4)° = 12.4
i=1 i=1
Eyl —n(y)?=18—10(0.6)° = 14.4
271 i=1
i, — = y)= dzy;—nzy=12—10(0.4)(0.6) = 9.6
i=1 i=1
9.6
= r= —————— = (.718
"7 /124 144
(b)
Ma—o)w=y)
= =1 = 2 = 0774
n — 12.4
E(%_w)
=1
a=y—bz

= 0.6—0.774 0.4 = 0.2904
= y = 0.2904 + 0.774z



2
(C) SSE = 14.4— %64 — 6.97
o? =5’ = 1%’272 = 0.87
- 9.6 B
(d) v = 5c1aa — 0510

(€) tgo95 (10—2) = t.095(8) = 2.306

0.87 0.87
. — 2. — < b <0. . -
0.774—2.306 2.4 b<0.774+2.306 2.4

= 0.774—0.611 < b <0.774+0.611
= 0.163 < b<1.385

0.774—0

0.87
12.4

|ty | = 2.922>t,,:(8) = 2.306 0122 H S 7]z}t

|t | ‘-—.2.922

10.9

b=r—2L = 0.74x% = 0.555
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